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Questionla

Suggest threeissues resulting from human population increase.
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Question1b

The figures below show the population of the worldin 2017 and one prediction of the world populationin 2050.

World 2017
age (years)
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World 2050 (predicted)
age (years)
100+
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i)
What was the percentage of females aged 25-29 in the world in 2017?

(1]
ii)
Describe the predicted percentage changes in the world population in people aged from O to 49 and those aged 50 and
over.

(2]
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Question 2

The figure below shows information about birth rates and death rates in Mexico (an LEDC) between 1900 and 2060
(estimated from 2024 onwards).
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Suggestreasons to explain why the population growth ratein Mexico is predicted to decrease between the present day and
2060.
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Question 3

The figure below shows a simple version of the Demographic Transition Model.
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Usinginformation from the figure, explain why the rate of population growth changes as a country moves from Stage 1to
Stage 4.
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Question 4
Outline why birthrates are still high inmany LEDCs.
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